Lesson BB Comprehension Practice

NAME Date

o Which of these facts is INCONSISTENT with the others?
A. Tony dresses well.
B. Tony takes care of his clothes.
C. Tony has nice shoes.
D

. Tony walks to school.

a Which of these probably explains why Jenna is tired?
A. She had a snack.
B. She ran five miles.
C. She walked to the living room.
D

. She read a little of her book.

e Which sentence uses the correct verb?
A. Holly was busy.
B. Ben were doing homework.
C. The girls was writing.
D

. A dog were running.

0 A wombat is a mammal. Mammals are animals. What can you conclude
from this evidence?

Mammals are wombats.
Wombats are animals.

Animals are wombats.

©c o r P

. All animals are mammals.
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NAME Date

0 What can you conclude from this evidence?

The pen is on the desk. The desk is in the office.
The desk is in the pen.
The office is in the pen.

The pen is in the office.

S o ®w P

. The office is in the desk.

e Which sentence uses the correct verb?
A. A storm were coming.
B. The wind was blowing.
C. Paul were wet.
D

. Some people was in the rain.

9 Which of these facts is INCONSISTENT with the others?
A. The car is new.
B. The plane came from Miami.
C. People left the plane.
D

. The plane landed.

. Linda practices running.
. Linda likes to run.

G Which of these is INCONSISTENT with the statement “Linda wins many races”?
A
B
C. Linda runs almost every day.
D

. Linda runs very slowly.
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NAME Date

a What can you conclude from this evidence?

The dog is eating. The dog’s food is in the kitchen.
The kitchen is nice.
The dog is not hungry.

The food is not good.

S o r P>

. The dog is in the kitchen.

€©) Which of the following is INCONSISTENT with the statement “That lawn
is pretty”?

A. The lawn has nice grass.

B. No one takes care of the lawn.
C. Someone mows the lawn.
D

. The lawn has no weeds.

e Which statement explains this fact: “The tree is tall”?
A. The tree has pretty flowers.
B. The tree has small leaves.
C. The tree is very old.
D

. The tree is in the park.

. A book were on the table.
. My friend was here.

o Which sentence uses the correct verb?
A
B
C. Some people was walking.
D

. The chair were empty.
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NAME Date

o Which statement tells about this picture?

/\

O

The square is below the triangle.
The circle is under the square.

The triangle is beside the circle.

S0 R P

. The square is above the triangle.

Which statement has two ideas that are inconsistent?
Lydia studied hard, and she got an A.
Ms. King asked us to close our books and take a test.

Pedro didn’t study, but he got a good grade.

cow > @

It was a math test, so I used a pencil.

e Which of the following is INCONSISTENT with the statement “Andy has a
nice bike”?

Andy is proud of his bike.
Andy takes good care of his bike.
Andy rides his bike to school.

S o ® P

Andy leaves his bike in the rain.

for use with SRA Corrective Reading Comprehension C 9
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NAME Date

a Which of the following is INCONSISTENT with the statement “School is
closed today”?

Suzie is in math class.
Some children are at the park.

Carl is going fishing.

S0 =" P»

. Wendy and Jamie are skating.

e What is the conclusion about this picture?

No dots are inside the square.
Some dots are inside the square.

All dots are inside the square.

S 0P P

. All dots are outside the square.

e Which is the correct way to combine these sentences?
Ricardo was late.
Ricardo did not hurry.

Ricardo was late, so he did not hurry.

Ricardo was late, then he did not hurry.

Ricardo was late, maybe he did not hurry.

S0 P

. Ricardo was late, but he did not hurry.
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